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Reg. No. ’

V Semester B.Com.3 Degree Examination, November/December 2018

(Regular and Repeaters)
MANAGEMENT ACCOUNTING

Time : 3 Hours Max. Marks : 80
Instructions : 1) Attempt the questions according to internal choice.
2) Non-programmable calculator may be used.
SECTION - A
(10x2=20)

I. Answer any ten of the following.
a) Define Management Accounting.
b) Mention any two techniques of Management Accounting.

¢) State any two differences between Cost Accounting and Management Accounting.

d) Mention any two tools of financial analysis.

e) What are financial statements ?

f) What do you mean by Debt-Equity ratio ?

g) How do you treat proposed dividend in the preparation of fund flow statement ?

h) State any four applications of funds.

1) Mention any two difference between Balance Sheet and Fund Flow Statement.
J) What do you mean by cash equivalence ?

k) State any two objectives of cash flow statement.

I) Give two examples of cash outflow from financing activities.
SECTION - B

Answer any three of the following. | : (3x5=15)
2. Explain the advantages of Management Accounting.

3. From the following data calculate trend percentages taking 2015 as the base year.

Particulars 31-12-2015 31-12-2016 31-12-2017
Sales 3,00,000 4,00,000 5,00,000
Cost of Sales 1,50,000 2,50,000 3,00,000
Other Expeénses 75,000 1,05,000 1,40,000

Financial Expenses 15,000 20,000 10,000

P.T.O.
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4. The following is the information of Durga Co. Ltd.

Current liabilities . X 1,00,000
Current Ratio : C !
Liquid Ratio : 251
Find out :

a) Current assets
b) Liquid assets
¢) Inventory.

. Following is the Balance Sheet of Viresh Ltd. as on 31 March 2016 and 2017. Prepare schedule
of changes in working capital.

Statement of Assets and Liabilities

2016 2017
Particulars Note Amount Total Amount Total
I. Equity and Liabilities :
1. Shareholders fund :
a. Share capital 1 62,000 75,000
b. Reserves and Surplus 2 30,000 92,000 38.000 1,13,000
2. Current Liabilities :
a. Trade Payables 3 35,000 39,000
b. Other Liabilities 4 - 35,000 10,000 49,000
Total 1,27,000 1,62,000
I1. Assets :

1. Non-current Assets :
a. Fixed Assets

1) Tangible Assets 5 10,000 10,000 15,000

15,000
2. Current Assets :
a. Current Investment 6 7,000 5,000
b. Inventories 7 43,000 60,000
c. Trade Receivables 8 50,000 45,000
d. Cash and cash equivalents 9  17.000 1,17.,000 37,000 1,47,000
Total 1,27,000 1,62,000
Notes to accounts :
Note 1 Share capital : 2016 2017
Equity share capital 62,000 75,000
Share capital 62,000 75,000
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Note 2 Reserves and surplus :

Reserves and surplus

4

Reserves and Surplus
Note 3 Trade payable :

i
; Sundry creditors
; Bills payable

)

Trade payable
Note 4 Other Liabilities -

Outstanding expenses

Other liabilities
Note 5 Tangible assets -

Land and building

Tangible Assets
Note 6 Current investment -
Investment
Current Investment
Note 7 Inventories :
Stock
Inventories
Note 8 Trade Receivables
Debtors
Trade Receivables
Note 9 Cash and cash equivalents :

Cash in hand

Particulars
‘""‘ Profit and Loss Account
Sundry Debtors

Bills receivables
Stock

Creditors

Bills payable

Additional information :

1) Goodwill written off during the year ¥ 6,000.
2) Depreciation charged on the assets T 9.000.

Cash and Cash equivalents
4: 6. From the following information calculate cash from operations.

2016
15,000
30,000
26,000
34,000
17,000

3,000

30,000
30,000

25,000
10,000
35,000

10,000
10,000

7,000
7,000

43,000
43,000

50,000
50,000

17,000
17,000
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60,000
34,000
21,000
50,000
20,000
10,000
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38,000
38,000

22,000
17,000
39,000

10,000
10,000

15,000
15,000

5,000
5,000

60,000
60,000

45,000
45,000

37,000
37,000
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SECTION - C
: : . (2x15=30)
Answer any two ol the following.
7. Following arc the financial statement of Advait Ltd. as on 31" December 2016 and 2017.
Prepare Comparative Statement ol Asscts and Liabilities.
Statement of Asscts and Liabilities
2016 2017
Particulars Note Amount Total Amount Total
1. Equity and Liabilities :
1. Sharcholders fund :
a. Share Capital 1 4,80,000 6,40,000
b Reserves and Surplus 2 200000 680,000 2.80.000 9,20,000
2. Non-current Liabilities :
Long-term borrowings 3 2,00,000 2,00,000
3. Current Liabilities :
a. Trade payables 4 1,20,000 1,60,000
Total 10,00,000 12,80,000
II. Assets:
1. Non-current Assets :
a. Fixed Assets
i) Tangible Assets 5 7,20,000 8,80,000
2. Current Assets :
a. Inventories 6 1.60,000 2,20,000
b. Trade Receivables 7 80,000 1,20,000
c. Cash and cash equivalents 8 40,000 2.80,000 60,000 4.00,000
Total 10,00,000 12,80,000
Notes to accounts :
2016 2017
Note 1 Share capital
Equity share capital 4,80,000 6,40,000
Share capital 4,80,000 6,40,000
Note 2 Reserves and surplus :
General reserves 2,00,000 2,80,000
Reserves and Surplus 2,00,000 2,80,000
Note 3 Long-term Borrowings :
8 % debentures 2,00,000 2.00,000

Long-term Borrowings
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Note 4 Trade payable
Sundry creditors 80,000 1.00.000
Bills payable 40,000 ‘60,000
Trade payable 1,20,000 1,60,000
Note 5 Tangible Assets :
Machinery 1,60,000 2,00,000
Land and Building 5,20,000 6,20,000
Furniture 40,000 60,000
Tangible Assets 7,20,000 8,80,000
Note 6 Inventories :
Stock - 1,60,000 2,20,000
Inventories 1,60,000 2,20,000
Note 7 Trade receivables : |
Sundry debtors 80,000 1,20,000
Trade receivables 80,000 1,20,000
Note 8 Cash and cash equivalents :
Cash 40,000 60,000
Cash and cash equivalents 40,000 60,000

8. Following is the financial statement of Amruta Ltd. for the year ended 31-12-2017
Statement of Profit and Loss
Particulars Note Amount Total

[. Continuing Operations :

1. Revenue from operations 1 5,00,000
2. Other Income 2 6.000 5,06,000
Total Revenue 5,06,000
3. Expenses :
Cost of materials consumed 3 2,933,000
Employees benefit cost 4 5,000
Finance cost D 7,000
Other expenses 6 1,17.000 4,222,000
Total Expenses 4,22,000
Profit 84,000
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Notes to accounts :

Note 1

Revenue from operations
Sales

Revenue from operations

Note 2 Other Income :

Note 3

Note 4

Note 5

Note 6

Interest on securities
Dividend on shares
Profit on sale of shares
Other Income
Cost of materials consumed

Opening Stock of materials
Add : Purchase of materials

Less : Closing stock of materials

Cost of materials consumed
Employees benefit cost :
Wages
Employees benefit cost
Finance Cost :
Financial Expenses
Finance cost
Others expenses :
Carriage
Administrative expenses
Selling and distribution expenses
Loss on sale of fixed assets
Provision for legal suit

Other expenses

You are required to calculate :
1) Gross Profit Ratio
11) Net Profit Ratio
i11) Operating Profit Ratio
1v) Operating Cost Ratio

v) Stock Turnover Ratio

OO R iy

3,750
750
6,000

76,250
3.15.250
3.91,500

98,500
2,93,000

5,000
5,000

7,000
7,000

2,000
1,01,000
12,000
350
1,650
1,17,000
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9. From the information given below prepare fund flow statement of Smile Ltd.
Statement of Assets and Liabilities
2016 2017
Particulars Note Amount Total Amount Total
I. Equity and Liabilities :
1. Shareholders fund :
a. Share Capital 1 6,00,000 8,00,000
b. Reserves and Surplus 2 1,18,000 7,18,000 2.44.000 10,44,000
2. Non-current Liabilities :
Long-term borrowings 3 2,00,000 3,00,000
3. Current Liabilities :
a. Trade payables 4 1,15,000 90,000
b. Short -Term provisions 5  44.000 1,59,000 57,000 1,47,000
Total 10,77,000 14,91,000
II. Assets:
1. Non-current Assets :
a. Fixed Assets
1) Tangible Assets 6 7,00,000 10,45,000
2. Current Assets :
a. Inventories 7 3,00,000 3.50,000
b. Trade Receivables 8 57,000 56,000
c. Cash and cash equivalents 9 20,000 3.77,000 40.000 4.46,000
Total 10,77,000 14,91,000
Notes to accounts :
2016 2017
Note 1 Share capital :
Equity share capital 6,00,000 8,00,000
Share capital 6,00,000 8.00,000
Note 2 Reserves and surplus : :
Profit and Loss Account 1,25,000 2.50,000
Less: Preliminary expenses 7,000 6,000
Reserves and Surplus 1,18,000 2.,44,000
Note 3 Long-term Borrowings :
Debentures 2,00,000 3,00,000
Long-term Borrowings 2,00,000 3,00,000
L ]
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Note 4 Trade payables :
Sundry creditors
Trade payables
Note 5 Short-Term Previsions :
Provision for Taxation
Short -Term Provisions
Note 6 Tangible Asscls :
Land and Building
Plant and Machinery

Tangible Assets
Note 7 Inventories :
Stock
Inventories
Note 8 Trdde Receivables :
Debtors

[ess : Provision for Doubtful Debts
Trade Receivables
Note 9 Cash and Cash Equivalents :

Bank
Cash and Cash Equivalents

Additional Information :

A O

90,000
1.15,000 )::,0“0
1,15,000 90,
44,000 57,000
44,000 57,000
3.00,000 4,00,000
4.00,000 6.45,000
7,00,000 10,45,000
3.00,000 3,50,000
3,00,000 3,50,000
63,000 59,000
6,000 3,000
57,000 56,000
20,000 40,000
20,000 40,000

a) During the year a part of Machinery costing T 70,000 was sold for % 6,000.

b) Dividend of ¥ 50,000 was paid during the year.

10. The following are the financial statement of Sourabh Ltd. as on 31" December 2016 and 2017.
, Statement of Assets and Liabilities

2016 _ 2017
Particulars Note Amount Total Amount Total
I. Equity and Liabilities :

1. Shareholders fund :

a. Share Capital 1 3,00,000 3,20,000

b. Reserves and Surplus 2 40,000 3,40,000 50.000 3,70,000
2. Non-current Liabilities :

Long-term borrowings 3 50,000 30,000
3. Current Liabilities :

a. Trade payables 4 40,000 50,000

Total 4,30,000 4,50,000

j
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I1. Assets:
1. Non-current Assets :

a. Fixed Assets

i) Tangible Assets 5 80,000

ii) Intangible assets 6 40,000
2. Current Assets :

a. Inventories 7 2,00,000

b. Trade Receivables 8 56,000

c. Cash and cash equivalents 9 54,000

Total

Notes to accounts :

Note 1 Share capital :
Equity share capital
Share capital
Note 2 Reserves and surplus :

Profit and Loss Account
Reserves and Surplus

Note 3 Long-term Borrowings :
10 % debentures
Long-term Borrowings
Note 4 Trade payables :
Sundry creditors
Trade payables
Note 5 Tangible Assets :
Land and Building

Tangible Assets
Note 6 Intangible Assets :
Goodwill
Intangible Assets
Note 7 Inventories :
Stock
Inventories

1,20,000

3,10,000
4,30,000

1,20,000

1,

2016

3,00,000
3,00,000

40,000
40,000

50,000
50,000

40,000
40,000

80,000
80,000

40,000
40,000

2,00,000

2,

00,000
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1,40,000

3,10,000
4,50,000

2017

3.20,000
3,20,000

50,000
50,000

30,000
30,000

50,000
50,000

1,20,000
1,20,000

20,000
20,000

1,80,000
1,80,000
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Note 8 Trade Receiv : i
Debtors i 60’888 72(%
Less : Reserve for doubtful Debt 5:’000 65,000
Trade Receivables . | |
Note 9 Cash and Cash Equivalents : 65.000
Cash in hand i ss.ooll
Cash and Cash Equivalents 54,000 N
Additional Information : 1
a) Dividend paid during 2017 was T 20,000.
b) Land purchased was ¥ 40,000.
¢c) Goodwill written off 20:,000
d) Debenture of ¥ 20,000 was redeemed during the year 2017.
Prepare cashflow statement for the year 2017.
SECTION - D >
Case Study — Compulsory Question (

11. The following is the financial statement of Sachin Ltd.

Statement of Assets and Liabilities
' 2017
Particulars ~ Note Amount Total

I. Equity and Liabilities :
1. Shareholders fund :
a. Share Capital % 1 8,00,000
b. Reserves and Surplus 2 62.000 8,62,000
2. Non-current Liabilities :

Long-term borrowings 3 2,00,000
3. Current Liabilities :
a. Trade payables £ 4 80,000
Total = 11,42,000
II. Assets : |

1. Non-current Assets :
a. Fixed Assets

1) Tangible Assets 5 8,70,000
i1) Intangible Assets 6 40,000 9,10,000

2. Current Assets : ‘ o
a. Inventories 7 1,80,000 g"
b. Trade Receivables 8 42,000 B
¢. Cash and cash equivalents 9 10,000 2,32,000 &
Total - 11,42,000
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Notes to accounts

Note 1 Share capital :
Equity share capital
6% Preference share capital

Share capital
Note 2 Reserves and surplus :

General reserve

Profit and Loss Account

Less : Preliminary expenses

Reserves and Surplus
Note 3 Long-term Borrowings :
5% debentures

Long-term Borrowings
Note 4 Trade payables :

Sundry creditors
Bills payable

R

3 Trade payable

: Note 5 Tangible Assets :

-2 Land and Building

3{, Machinery

1 Furniture

P Tangible Assets
% Note 6 Intangible Assets :
Goodwill
% Intangible assets
E Note 7 Inventories :

Stock
Inventories
Note 8 Trade receivables :
Debtors
Trade Receivables

Note 9 Cash and cash equivalents :
Cash in hand

1.

Cash and cash equivalents

6
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2017

5,00,000
3,00,000
8,00,000

40,000
30,000
70,000

8,000
62,000

2,00,000
2,00,000

56,000
24,000
80,000

5,00,000
3,50,000

20,000
8,70,000

40,000
40,000

1,80,000
1,80,000

42,000
42,000

10,000
10,000
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Total sales for the year ¥ 8,00,000 and the pr

[) From the above information calculate :

a) Current ratio
b) Quick ratio
¢) Proprietary ratio
d) Capital gearing ratio
e) Stock turnover ratio
f) Debt equity ratio.
II) Comment on the following :
a) Liquidity position
b) Debt equity mix
c) Solvency position.
3B I3
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62,000
62,000

30,000
30,000

25,000
10,000
35,000

10,000
10,000

7,000
7,000

43,000
43,000

50,000
50,000

17,000
17,000
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2017
60,000
34,000
21,000
50,000
20,000
10,000

(2x15=30)
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Reg. No. \

Fifth Semester B.Com.2/B.Com.3 Degree Examination, Nov./Dec. 2018

COMPUTER APPLICATION IN BUSINESS (Regular/Repeater) (Paper — V)
Max. Marks : 80

g —

Time : 3 Hours

Instructions : 1) Answer all Sections, subject to internal choice.

2) Section D is compulsory.

SECTION — A

Answer any ten questions. Each carries 2 marks. (10x2=20)

What 1s mobile commerce ?

. Name any 2 online book stores.
. What do you mean by virtual auction ?

. Distinguish between intranet and extranet.

. Expand HTTP and SGML.
. How do you set the background colour of HTML page ?

. Specify any 4 keywords of VB.Net.
. Give the syntax of Inputbox() m VB.Net.
10. Define branching. |

).
2
3
4
5. Write any 2 characteristics of LAN.
6
7
8
9

11. Write the purpose of firewall. ;

12. Define cryptography. |
SECTION — B |

Answer any 3 questions. Each carries 5 marks. (3%x5=19)

[3. Write the benefits of E-commerce to the government.

[4. Explain the merit of computer networks.

15. Explain the structure of HTML document.

16. Write a VB.Net program to find the given number is even or odd.

17. Describe the benefits of electronic payment system.

SECTION - C
Answer any 2 questions. Each carries 15 marks. (2x15=30)
18. Discuss in detail the different electronic payment system.

19. Explain the merits and demerits of “Business through Internet” concept.

20. Explain the different conditional control statements in VB.Net with syntax and example
21. Write a short note on : Y

a) Internet newspaper.

b) Table tags in HTML,
c) BPR.

P.T.O.

s k -~
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SECTION -D
Case study. Compulsory. (1x15=15)
22. Designa VE Net application to generate a bill of the books purchased on the basis cf following

conditions.

Price Discount
Below Ks. 100 5%
Between Rs. 100 to 200 16%
Between Rs. 200 to 300 15%
Above Rs. 300 20%

Accept the Book title, Author name, Publisher name, Price and quantity, calculate and print
the Bill amount.
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Reg. No.

V Semester B.Com.3 Examination, November/December 2018
GOODS AND SERVICES TAX -1

(Paper — 1) (Regular)

Time : 3 Hours

1.

Max. Marks : 80
Instructions : 1) Answer all the Sections according internal choice.

2) Question under Section ‘D’ is compulsory.

SECTION - A

Answer any ten of the following. (10x2=20)

a) Why is the goods and service tax introduced ?
b) Expand the following term:s :
1) NEFT
1) RTGS.
¢) Give two examples of actionable claims.
d) What is address of record ?
e) What is Reverse Charge ?

f) What do you mean by exempt supplies ?

g) What is the threshold limit of exemption ?
h) Define casual dealers.

1) Mention the approaches for treatment.
J) Define Services.

k) State any two objectives of GST.
I) Give the meaning of registration.

SECTION - B

Answer any three of the following.

2.
3.

(3x5=15)
What is GST ? State its features.

Write short notes on -
a) Actionable claim

b) Concept of business.

What are the important exemptions determined by GST council on 19-5-2017 ?

. Explain the types of registration.

Explain the principles of GST for imposing tax.

P.T.O.
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SECTION — C _
Answer any two of the following. (2x F

7. Explain the benefits of GST to the traders, consumers and government
8. What is capital asset ? Explain in detail about stock-in-trade, personal effects and jewellery,

9. Write short notes on any three :
a) Financial services
b) Unregistered business
¢) Government departments and other public sectors
d) Cancellation of registration. |

10.  Explain the procedure for registration.

SECTION -D %
Case study (compulsory question). (lxl'ﬁ

. a) On 1-6-2018 Mr. Shrinivas who is doing trading business, purchased a car for busmess
on which he was taken ITC (Input Tax Credit). On 16-10-2018 he gifted this car to his
friend Mr. Vasu. State whether this gift is treated as supply or not. f

b) Mr. Suresh who is mobile dealer, gifted a mobile to his wife. State whether it is taxabl

supply or not, if the mobile is
1) T 55,000 4
1) ¥ 35,000. |
¢) Head office transferred goods of ¥ 12,00,000 to the branch office without conmderatmn, g
Is it treated as taxable supplies ? | B
s o3
QTN - &
1. B 3_3_15 SVSORD.
a) =R S Be 88 08 FARSINS 9
b) &Wﬁd@ﬂ#ﬁ% DPORD :
1) 23599583
11) &50°.83.23. 5.
C) ﬁdzﬁﬁmdmd adma‘&%agﬁﬁab mﬁm&
d) owmTer a@E 293 2o5ded ?
€) 3OADT 38 wordey ?
f) ocdnomsmyd Tpds woddesy ?
g) R0% ) Besmo 3ored DO Bwe Q03 SoRdes ?
h) modwrs 39,000 9,53, AP,
i) SBRERDDED BRRINY Wit 3080, | -
1) ReSne T Veqd. i ‘

-

b

atn --J

¥ t‘!_ '.

f
X

i T |-.'|' - -‘
bl - el Bl
ey L]
S B
- )
b -3
r 5 i
JI F
» s
)
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RNOB W) e 301 WOTTEI 9 ear3y mrauimmﬁai;_t SV,

OFO 83363 w8000 ;
1) 88 g wabms BB, WY riedy

11) NG lela TOBOR,

B % 1, DOoBYADTBY D08 19-5-2017 goms

SREOTEIOD AT TN W DTOLD.
BT 8800 301 Togda 33 e

OIF O §rinom DEvoisrds QAN 390 ?

mrﬁﬂ&jﬁdm NEQD,

ATARY )
Al plal adc#ﬁ ngam.

A » 55,0008 2 BYBnnY Wit RomB D=t dead,
9. o 832063 2wBoWwd (Vems mm) :

a) ToTOAT B3R

b) R[neom ROBH SN Dle!

C) =TE0 aeRSML W0 2B BB Borreds
d) Ineoxss STTRRRH.

10. Sncomded Ygot W DFOD,

(3 23) Ttk g am | (1x15=15)
1. a) 3esenmmamcs omos 1-6- ﬂ

a'odaigi DOeD dn&aﬁmnﬁadaagd & HDOI Dees ITC ﬁéme% Pate

QTOZTB. Dvoos 16-10-2018 Sor s uav‘ed;t
mffaoémd 3,¢ 3oRD AROR BREIRAIRA NeRTT. B3 3RBortodd a;lqus HOT AT BORpe .aomtﬁﬁglﬁm
TOREIROIDD 9

1) dn. 55,000
i1) dn. 35,000
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Reg. No.

V Semester B.Com.2/B.Com.3 Degree Examination, November/December 2018
Paper — I : ELEMENTS OF COSTING — |
(Regular and Repeaters)

Time : 3 Hours Max. Marks : 80

Instructions : 1) Attempt questions according to internal choice in each Section
-’ axy :
TRLITNEO . T, 3P0 PN SoTOF SR NDTT=N T INI vF0X0.
2) Question No. 11 is compulsory.
ZZ 11 sy o.

3) Give working notes wherever necessary.

ea’al‘r acgg e‘sagrdmfdg‘ ' Nelobblo
SECTION — A
YN — &
l. Answer any ten of the following - ' (10x2=20)

3500 B T, NOR CVIOAD
a) Define Cost Accounting.
2%, éﬁﬂmiﬁzﬁ 239,339, QAD.
b) State the components of Prime Cost.
SN ARIN] aﬁa';;d S0, PLINII) 392D.
¢) What is Indirect Material Cost ? Give two examples.
ﬁﬂmi SING [, D0TTERD ? ATVRD VTRTTE ERA.
d) What is Maximum Stock Level ?
MO ToR9RY 03, DOTTETD ?
¢) What 1s Cost Sheet ?
303, T3, DOTTED ?
f) What is purchase requisition ?
00D TR F0TTEI ?
g) What 1s Idle time ?
AT 03ReE 6P 0TI ? >
h) What do you mean by Labour Hour Rate ? -
F9OF T NOES BT Q0TTEI0 ?
i) Write formula to calculate the earnings under Rowan Plan.
Srema® cdnensodd N 8 IR 33, w3oWD. | PT.O.

m— =
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()

)) What is overhead cost ?

ﬁoedﬂwJﬁ% 0TV 9

k) What do you mean by under recovery of overhead ?

medﬁ‘zﬂ SRR - SF0R 008 9

1) What is Machine Hour Rate 2

G003, o3 T OTTed 9

SECTION - B
SRN— W

Answer-any three of the following :
FVNT WeHT AT T,3NON LUSOAD

9

—

3. From the following particulars prepare Cost Sheet and show the Sales Value

Explain the objectives of Cost Accounting.
=%, SETIT B BRI ATORO.
= (o] o5

Rs.
Raw materials as on 1-4-2017 1,00,000
Raw materials as on 31-3-2018 80,000
Work in progress as on 1-4-2017 40,000
Work in progress as on 31-3-2018 64,000
Purchase of raw materials 5,00,000
Direct wages 2.00,000
Factory overhead 80% of direct wages
Administrative overhead 60,000
Selling and distribution overhead 20,000

Profit 20% on sales.

BYNS DT[oNVoTs 53, £3,FODITY), 3CIROD TNR JRTHLT VSODTY 2RedRD.

dR.NeYO
gum, oson, 1-4-20178 1,00,000
g3, Tosdon, 31-3-20188 80,000
T,ndobYoba ox 1-4-2017 40,000
B,n3cdh o dox 31-3-2018 64,000
B3, 030N, 0 Do 5,00,000
3¢C 3D 2,00,000
VT TH0D Soeen i3 Jead B I,833 80% |

g28e00m Boeen =5, 60,000
SN0 Torte HITEOI Boeed Py, 20,000

ZInoous Lo Soees 20% ooep.

0000 i

(3x5=15)
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| 4. Tollowing is the information relating to consumption of material “M” in an organisation.
Maximum consumption 200 units
Minimum consumption 160 units
Re-order quantity 200 units
Delivery period I week to 3 weeks
Normal 2 weeks
f Consumption during the year 2400 units ‘
: Calculate :
“ 1) Re-order level
2) Maximum stock level
3 3) Minimum stock level.
w0m0 BB “M” SHa wUTodRents XoLoRAT TR&S FWNT03T.
ro%g wed 200 odanderFnsd
I Wyl 160 oeerFnisd
R 563 TS, 200 oheEsrrisd
WEINR 5T 160z 3 =o0ned
TORRT, 2 0N
SHFTY, VTSRS TR 2400 csoRIFTH
FOR&BAD ;
1) 2o =3es oL,
2) n’aa% CoTRT 3083,
3) 33 oo =3,
5.

Calculate the earnings of Akash and Balu under Taylar’s differential piece rate system from
the following :

Normal rate per hour Rs. 12
Standard time per unit 30 seconds
Differential to be applied :

80% of piece rate below standard

120% of piece rate at or above standard

Workers production per day of 8 hours is
Akash — 800 units

Balu — 1.(}0{} units
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RN, TC T8 Rt T, 12

)3 GRS T, =Sed Sewd 30 FBoRonets
BSFONLICTT 33:5@5:&’ &0

2, ST TRTO 0@ o 120%
8 motine O3B ORI v A

5% - 800 oz

W - 1000 cdondezras
From the following information Co
the month of February 2018
Cost of Machine Rs. 24,000
Estimated scrap value Rs. 4,000
Estimated working life 20000 hours
Total hours worked during the month — 400 hours
Estimated cost of repairs for working life Rs. 5,000
Fixed charges allocated to this machine for the month Rs. 200
The machine consumes 10 units of power per hour at — Rs. 0.40 per unit.

" o FowoRAT Sddcor Fuo,=0 2018 Sonermn 0, Notd WOSTY FOROLRCWO.
QW03 T e 63 dr. 24,000

c03, T3 MOxd SR, Beze=R dre. 4,000

3003020 FORT notdns 20. 000

30MOT ©TRODA o3 INAT 2830 nodnsh 400
ZeTDTHOD 0T 033ed g, dwe. 5,000

00,3 Sonwron SBOAT AT Suisb de. 200

03208, 2,000 Motd TR BR@en 10 cdedEs S, 33 wHIT
2,080 0RREF DT, ©T dr. .40 [TOFH.

mpute Machine Hour Rate in respect of Machine “P” for

SECTION - C

NPN— F )

Answer any two of the following : (2x15=3q

SINSINVE, 3605 208 LVIOND : )
7. Explain merits and demerits of Cost Accounting.

aizg’ %ﬁ RPN Tone mzonfd;tgl Eatnie) ol
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8. rom the following information prepare a Stores Ledger under FIFO method.
November 2017

Nov. | Opening stoek 400 units at Rs. 100 per unit
"5 Issued 100 unity

o 0 Received 1600 units at Rs. 110 per unit
7 1ssued 600 units

10 Returned to stores 40 units which was issued on 5" November 2017
12 Received 600 units at Rs. 120 per unit
14 Issued 640 units

I8 Received 200 units at Rs. 140 per unit
20 Issued 240 units

25 Returned to Vendars 80 units which was received on 18" November 2017
28 Received 400 units @ Rs. 150 per unit ‘
30 Issued 500 units
9 SUNS SR%eneed FIFO wgacisd 1ou smndadny, Sainda.
SSowet 2017
SHowat 1 ooy duy 400 csandiyrsh 1,3 ot de. 100 dod
TS 8anms 100 ahadesriv
6 wdod 1600 adwdistnivh T3 chwdis' da, 110503 N
T T deum 600 ahediivs :
T 100 oo, lodchnng) 40 awktrivd Dol 5 Ssdorot 201700
T 12 SR 600 coriirish ©,8 ot de, 120008
AT MHP)G640 QRRVLI ML
T 18 wdow 200 clwhernivo ©8 cdnde i dr. 140
200 dauimd 240 ol
D23 g decon koddonaad 80 clawdi itk 18:e Sworot 2017 WO,
T28  wadm 400 cdoadurivh B8 cdonders de. 150
" 30 e 500 chwakrisy

7. Standard time fixed for a job in a manufacturing company is 40 hours. Time rate is 60 paise

per hour,
The actual time taken by the workers is as follows :
Raveendra 20 hours
Sudindra 15 hours X
Aravind 30 hours

Calculate the remuneration of above workers as under :
1) Halsey Plan

i) Rowan Plan,

Scanned by TapScanner



10. The following particulars relate to a company’s manufacturing operations.

3652323523/ 230 o

%O ST BOTREDY 20w SR Tmeeds rotdnvhd 4() 050 AMOBRBEANT.

Sed 30 T3 Roirt BROabR 60 T3 womd AMOTRELNG. desewd S 81 TN TS plelsy |
[033. 3

8003, 20 rosdnst
K‘ﬂ@wc;i. 15 notinsh
SleMlela 30 rotdnst

Pstale) ﬁoma‘dcd)@l IONT OdnexIny &,500 dﬁﬂ =REBO.
1) BHSoHTT drenss

1) BRTICRT cdness.

There are three production departments viz., A, B, C and two service departments X and Y.

Departments Overheads (Rs.)

A 19,800

B 29,200

C 25,400

X 6,800

) 4 15,000
The overhead charged to service departments are charged out on percentage basis as under :
Particulars Production Departments Service Departments

A... B C X Y

Department X 40% 20% 30% — 10%
Department Y 20% 40% 20% 20% -

Re-apportion the service departments overhead charged to production departments using
“Simultaneous Equation Method” also determine overhead recovery rate if direct labour hours

worked are 2000, 3000 and 4000 respectively in the three production departments.

BN DTONT 2,083 FOTROD LU TFoD 2LTeTEReR JowoPas. A, B, C &ancd YVID TT0 LIONTIL X
X morte Y Beww oyonnsd.

AL DY 1y L Soeen g (Se.nvY)
A 19,800
B . 29,200
C 25,400
X 6,800
D ¢ 15,000

d { | LS
W ‘_"' -l- T':"-'.
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S dwj@g& TEFETT B4 FUNT03 LBEOIOTNT.
— VR T Qi Fem QLPRND
A B C X Y
- 40%  20%  30% ~ 0%
. ¥ 20%  40%  20% 20% -

DB 5908 VFTD TGS STION Fewo QTRRY Boeen 3 IRV, T TowE SRWO.

RORT LUTVTT RN 5,33 809 Rokinsd w8, zomon 2000, 3000 e 4000 agd doewd &5,

38R TOIH, IFFORD.
SECTION -D
AN - B
(ase study (compulsory) : (1x15=15)
= 206 Efﬁf Q0N (smnu:o %ﬁq} ;

The following are the particulars given to you :
Standard Time : 10 hours and

Time Rate Rs. 10 per hour

Time taken :  Workers O - 8 Hours

P — 6 Hours
Q — 5 Hours
R — 4 Hours
S — 3 Hours
You are required to :

1) Prepare comparative statement earnings under Halsey and Rowan Bonus plans.
11) Analyse the statements and give your conclusions.

111) Suggest the bonus scheme suitable from the point of management and workers.
3 FYNT m&éw;ﬁq 3O WEANRNT :
=, R038,3 Fed 1 10 notdnsh =B
Sed oo or. 10 2,8 Rown
303mot 3RE8RoE Sed O — 8 rotdnsh
P — 6 rotdn<b
Q — 5 rotdnsL
R — 4 notdnsd
S — 3 rotdnw

i) o=t Tone BReST TR0 ipesn’ odeens Fros FURMTT NYEcd TeedE TICHT Ia3O0
i) WeIeomo BoBEORD TONR Qa3 €T 0PNV eRO.

1) =Bes0FONRT ToNL RMoTC GAEm00 CIRE tiResa” 03eesEtn Beg HowYTR) HSOXD.
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Time : 3 Hours

| Answer any ten questions of the following in 2-3 sentences :
BINS CINRTOTTR DR a.g:}ir{ﬁﬁ 2-3 mﬂdﬁﬁqq VSO0 :

a)

b)

c)

d)

g)

h)

chi NOI l
.‘ i i v 013

] b

SMALL BU SINESS AND ECONOMI
Max. Marks : 80

n : 1) All sub questions should be answered at one place continuously.

Quote facts. and figures to support your answer.
L.ode gt ewId LoD, VST 308 - 208MIROON O

Instructio

o wd yIner

I TN FOPFAO.
2) Answer to all Sections should be written in the same answer

book.
DeR TN LFTNIRD wodde T 23, #ob & LTA00.

SECTION —A
(2x10=20)

What do you mean by entrepreneurship ?

VBBV DT ?
According to Union Budget 2018, what are the medium sized enterprises ?

2018 3 de0g, Rvond SIE FT0 BHF> YT ¢oasondorsd iR ?
What do you mean by business idea ?

qia:fmtfcf s Q0TBERD ?

What do you mean by project report ?

036250 WOD DOV 7

State any three sources of finance for small business.

8 F[BTE,N HHTHOD CIRFTTOR R0 BETOAT SIRONTS) IBROAD.
Expand NIESBUD.

NIESBUD aa) 2508 wdowo.

Who is the Union Minister for MSME in India ?

03T w38, FrodE 33 FRTONRY deors 008 oD 9

What do you mean by innovation ?

SREIB D03 9

What is quantifiable project ?

TORRMEIZE cdnens Dordesd 9

P.T.O
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1) What s DIC ?

2R §0dE §e0l DOWTED ? |
k) When was (NIMSME) National Institute for Micro, Small and Medium Enterprises was

set up ?
NIMSME o asossorn m{;@ﬁmm 9
1) State any three objectives of Industrial Estates.
3 M0% IWBINY IRFYTEER Swedd OSBRI BROAD.

SECTION —-B

Answer any three of the following questions :

39N CARRTETR SoRth JBNeR LuZoRD

2. Explain the problems of micro, small and medium scale enterprises in India.
PTBTY e, B B OFD Mo §wddny RSOZNRY B0 DRO0.

3. Explain the characteristics of good project.
OIS C3REBIOW MLV LN DOA.

4. Explain functions and performance of Small Industrial Development Bank of India.
LPRTST X, 00BN ORF O W08 BODF N FOL) TSN wrf DTOXD.

5. What are the different types of Innovation ?
300D DG BFSEh IR 2

6. Write a note on Industrial Estates.
3 o0% SRBAONWD Wi 432063 LTAW0.

(3x5=15)

SECTION -C

Answer any two of the following questions :

39N CIRFYTRTETR FTE JIRET YUS0A0:

7. Explain the process of economic development.
SOFE oRE0 B30I DBORD.

8 What is the need for project formulation ? What are the elements of project formulation ?
S3neronh ddeERoD DEodob 8R8Es O 7 cdeesod AdRTBOD H3ooDY, LORRORE 903N IR ?

9 Discuss the role of SIDBI and MUDRA Bank in promoting small and medium enterprises in
India. :

238 303 G IO QEONY LFODO, Ky, 0B LR, 1,08 T [0, 23R, 08NV TR, IO,

10. Explain the various Government Schemes for promoting MSME in India.

138, §7008 ) F[TONY s oD, FEOF OB DT cdpenSnd Wil w33FAL.

(15x2=30)

A

e
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SECTION -D
WO - T
L, mpulsory questions : (1x15=15)

:}~:$ :5‘5\ :
1se let.

e

3)
Since Independence Government of India has initiated several measures and provided many

mcentives for the growth of MSME. Industrial Estate Programme 1S one among them. IE was

launched in 1955, 1E is a area where all the necessary infrastructure faculties are provided for
‘he development of MSME.

\nswer the following questions :
1) What 1s industrial Estate ?

b) Explain the objectives of Industrial Estates.
¢) Discuss the role of Industrial Estates.

W 308, | 030 E[OONY  ¢o3 XeorSxy) MSME mpq,tg;ﬁ KOBR), ungeuaimfdi Qem33. LIYNY Fnodm

SBD BT wowd. 1955 3 WTSR0AUN 83 03perSoDY, wotde BUeBRY, Frodsne RS On e3emorios
QY WRVYNT FIFODF YD WEARMIST,

a) DT THTH R0TTERD
b) Froom SN OTEBRYR) DTOXD.
C) Fom JTIONY THI, DTORD.

Scanned by TapScanner



